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Note: You have four choices for each objective type question as A, B, C and D. The choice _J“)f;d’ﬂj;.-.p!!lr

which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER:

Q.No.1 A Ay

(1) The éiement is found in most abundance in earth's crust:- S ?%Lgoﬁkiav/ufuﬁffvw (M
{A) Oxygen ur"?'ff (B} Aluminium rf“/,&l (C) Silicon &b (D) Argon T '

(2) ____ consists of four subshells. -a‘-—ug%;ﬁv’ﬂg Y (2)
(A) K shell £ K (B) L shell & (C) M shell JZM (DIN shell JZ N

(3) Mendeleev's periodic table was based upon:- -u%?b(uﬁdmiﬁdib%kf (3}
(A) Electronic configuration ﬁzﬁ‘;ﬁ L (B) Atomic mass> (/ht !
(C) Atomic number 2t (D) Completion of a subshell b P

(4) ___ elements are there in the first period of long form _;_,{;f‘_ry”%l ﬁ_wéﬁ% Ld’i@ygd?ﬁﬂ (4)

of periodic table. Ay 2 (8)3 (C) 4 (D)6

(5) Transfer of electrons between atoms results in:- ! ,-97' J'J/;/C'fuLw&/‘! (5)
(A) Metallic bonding U2 e s Subis e (B) lonic bonding u*fJJJL AT
(C) Covalent bonding 4;}’5 Sy (D) Coordinate Covalent Bonding m.-.-,mJﬂgm,/_gmf

(8) _____ pair has polar covalentbond. _q_;L“aCut'LM.-f/g G (6)
(A) O, and C!2 (B) HQO and N, (C) HEO and 02H2 (D) Hzo and HCI

(7) One atmospheric pressure is equalto __ pascals. > bsrsldl 7‘("5 o _2,; {Atmospherié) J/f”i.iﬂ 1 (7)
(A).101326 (B) 10325 (C) 106075 (D) 10523

(8) In soft drink the solvent is:- ~edn I LSSy (8)
(A) Benzene ¢/ # (B) Water d} (C) Milk 23 (D) Ol K

(9) Molarity is the number of moles of solute dissolved in:- um_.oid’fg,;u;a:Jﬁy‘é&;ﬂr@gr (9)
(A) 1 kg of sclution L,cfl—'f/'jg'i L (B) 100 g of solvent u‘fri/; 100 Letdy
(C) 1 dm3 of solvent U 1 dm3 Lz (D) 1 dm® of solution ¥ 1 dm3 LAk

(10) The oxidation number of Chromium in K,Cr,05 is:- e AP TS KoCry07  (10)
(A) +2 B) +6 ©) +7 D) + 14

(11) The moest common example of Corrosion is:- ﬂal_dtfﬁ*ta;:--—/urui‘:f (11)
(A} Chemical decay st (B) Rusting of Iron tf_fb%_)
(C) Rusting of Aluminium ¢0_&/F (D) Rusting of Tin t{_E3(/

(12) Of the following non-metals is extremely hard. -ewfedld SRS, (12)
(A) Graphite -.a:’kgf (B) Phosphorus (¢ (C) lodine u{;‘fr' (D) Diamond X413
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